
MATHS

BOOKS - RD SHARMA MATHS

(HINGLISH)

SURFACE AREA AND VOLUME OF A

SPHERE

Others

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. A solid sphere of radius 3cm is melted and

then
 cast into small sphereical balls each of

diameter
0.6 cm. Find the number of balls thus

obtained.

Watch Video Solution

2. How many spherical bullets can be made out

of a
 solid cube of lead whose edge measures

44cm, each bullet being 4cm in diameter.

Watch Video Solution

https://dl.doubtnut.com/l/_MUld4rHsYDG8
https://dl.doubtnut.com/l/_iaVMnNIdjGED


3. A measuring jar of internal diameter 10cm is

partially filled with water. Four equal spherical

balls of diameter 2cm each
 are dropped in it

and they sink down in water completely. What

will be the
change in the level of water in the

jar?

Watch Video Solution

4. A hemisphere of lead of radius 7 cm is cast

into a right circular cone of height 49cm. Find

https://dl.doubtnut.com/l/_iaVMnNIdjGED
https://dl.doubtnut.com/l/_yABgLsjcDsCt
https://dl.doubtnut.com/l/_n6sKVMft4Xlp


the radius of the base.

Watch Video Solution

5. The diameter of the moon is approximately

one
fourth of the diameter of the earth. What

fraction of the volume of the earth
 is the

volume of the moon?

Watch Video Solution

https://dl.doubtnut.com/l/_n6sKVMft4Xlp
https://dl.doubtnut.com/l/_Y4duAdYeWksI


6. A cube of side 4cm contains a sphere

touching its side. Find the volume of the gap

in between.

Watch Video Solution

7. A cube of side 4 cm contains a sphere

touching its side . Find the gap in between

them .

Watch Video Solution

https://dl.doubtnut.com/l/_pma6mqO83DM5
https://dl.doubtnut.com/l/_pzfN86b7pcJS
https://dl.doubtnut.com/l/_1XrHpBWGfQrr


8. The dome of a building is in the form of a

hemisphere. Its radius is 63dm. Find the cost

of painting it at the rate of
Rs. 2 per sq.m.

Watch Video Solution

9. Assuming the earth to be a sphere of radius

6370
km, how many square kilometres is area

of the land, if three-fourth of the
 earth’s

surface is covered by water?

Watch Video Solution

https://dl.doubtnut.com/l/_1XrHpBWGfQrr
https://dl.doubtnut.com/l/_F7MjKSB5cRuz


10. A storage tank consists of a circular

cylinder
with a hemisphere adjoined on either

end. If the external diameter of the
cylinder be

1.4m and its length be 8m, find the cost of

painting it on the
outside at the rate of Rs. 10

per 

Watch Video Solution

m2.

11. The diameter of the moon is approximately

one
fourth of the diameter of the earth. Find

https://dl.doubtnut.com/l/_NCNRos9myk3N
https://dl.doubtnut.com/l/_qN9sdISqEYHG


the ratio of their surface areas.

Watch Video Solution

12. A hemispherical bowl is made of steel 0.5

cm
thick. The inside radius of the bowl is 4cm.

find volume of steel

Watch Video Solution

13. The volume of the two spheres
 are in the

ratio 64:27. Find the difference of their surface

https://dl.doubtnut.com/l/_qN9sdISqEYHG
https://dl.doubtnut.com/l/_tnUizMuwQ1Ge
https://dl.doubtnut.com/l/_cxycJTl2nC5g


areas, if
the sum of their radii is 7.

Watch Video Solution

14. A cylinder of radius 12cm contains water to

a
 depth of 20cm. A spherical iron ball is

dropped into the cylinder and thus
the level of

water is raised by 6.75 cm. Find the radius of

the ball. 

Watch Video Solution

(useπ = )
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https://dl.doubtnut.com/l/_cxycJTl2nC5g
https://dl.doubtnut.com/l/_tqmna9igI43c


15. A vessel in the form of a hemisphereical

bowl is full of water. The contents are emptied

into a cylinder. The internal
 radii of the bowl

and cylinder are respectively 6cm and 4cm.

Find the height
of water in the cylinder.

Watch Video Solution

16. A dome of a building is in the form of a

hemisphere. From inside, it was white-washed

at the cost of Rs. 498.96. If
 the cost of white-

https://dl.doubtnut.com/l/_Tepxnw1j46Po
https://dl.doubtnut.com/l/_9lIUqrB1BaUu


washing is Rs. 2.00 per square metre, find the

inside
surface area of the dome and volume of

the air inside the dome.

Watch Video Solution

17. Twenty seven solid iron spheres, each of

radius 
and surface area 
are melted to form

a sphere with surface area 
. Find the
radius

r of the new sphere.
ratio of S and S.

Watch Video Solution

r S

S'

https://dl.doubtnut.com/l/_9lIUqrB1BaUu
https://dl.doubtnut.com/l/_ImKcsM08iouB
https://dl.doubtnut.com/l/_MCBCJDP3NfUd


18. A wooden toy is in the form of a cone

surmounted
on a hemisphere. The diameter of

the base of the cone is 5cm and its height
 is

4cm. Find the cost of painting the toy at the

rate of Rs. 5 per 

Watch Video Solution

1000cm2.

19. A toy is in the shape of a right circular

cylinder
with a hemisphere on one end and a

cone on the other. The height and radius
 of

the cylindrical part are 13cm and 5cm

https://dl.doubtnut.com/l/_MCBCJDP3NfUd
https://dl.doubtnut.com/l/_rIxKLrTZdI5y


respectively. The radii of the
hemispherical and

conical parts are the same as that of the

cylindrical part.
 Calculate the surface area of

the toy if height of the conical part is 12cm.

Watch Video Solution

20. Three solid spheres of iron whose

diameters are
 2cm, 12cm and 16cm,

respectively, are melted into a single solid

sphere. Find
the radius of the solid sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_rIxKLrTZdI5y
https://dl.doubtnut.com/l/_2FdeThBdDC1D


21. How many spherical lead shots each 4.2 cm

in
 diameter can be obtained from a

rectangular solid of lead with dimensions

66cm, 42cm, 21cm. 

Watch Video Solution

(useπ = ).
22
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22. A sphere of diameter 6cm is dropped in a

right
circular cylindrical vessel partly filled with

water. The diameter of the
cylindrical vessel is

12cm. If the sphere is completely submerged in

https://dl.doubtnut.com/l/_2FdeThBdDC1D
https://dl.doubtnut.com/l/_6n8qEWaBMu87
https://dl.doubtnut.com/l/_W0bzbmiHVfyk


water,
by how much will the level of water rise

in the cylindrical vessel?

Watch Video Solution

23. A solid lead ball of radius 7cm was melted

and
then drawn into a wire of diameter 0.2cm.

Find the length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_W0bzbmiHVfyk
https://dl.doubtnut.com/l/_fLZdnccarEos


24. A sphere, a cylinder and a cone are of the

same
radius and same height. Find the ratio of

their curved surface.

Watch Video Solution

25. Find the surface area and total surface

area of a
hemisphere of radius 21cm.

Watch Video Solution

https://dl.doubtnut.com/l/_KXIJxlBP6gFi
https://dl.doubtnut.com/l/_K3GyehR25Ct7


26. Find the surface area of a sphere of radius

7cm.

Watch Video Solution

27. The internal and external diameters of a

hollow
 hemispherical vessel are 24cm and

25cm respectively. The cost to paint 
 the

surface is Rs. 0.05. Find the total cost to paint

the vessel all over. 

Watch Video Solution

1cm2

(useπ = )
22
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https://dl.doubtnut.com/l/_xVuiot6GYPTA
https://dl.doubtnut.com/l/_978X9T9Rctlm


28. The internal and external diameters of a

hollow
 hemi-sphereical vessel are 24cm and

25cm
respectively. The cost of paint one sq. cm

of the surface is 7 paise. Find the total cost to

paint the vessel all over.
 (ignore the area of

edge).

Watch Video Solution

29. A right circular cylinder just encloses a

sphere
of radius 
as shown in figure. Find ther

https://dl.doubtnut.com/l/_978X9T9Rctlm
https://dl.doubtnut.com/l/_KWIkTGP5w4dy
https://dl.doubtnut.com/l/_kyNomUCWJCJF


:
 surface area of the sphere
 curved surface

area of the cylinder
ratio of the area obtained

in (i)
and (ii)

Watch Video Solution

30. Show that the surface area of a sphere is

the same
 as that of the lateral surface of a

right circular cylinder that just
 encloses the

sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_kyNomUCWJCJF
https://dl.doubtnut.com/l/_QYFUEsYH8NCG
https://dl.doubtnut.com/l/_GzqL5AxC0U2S


31. A cone, a hemisphere and a cylinder stand

on equal
 bases and have the same height.

Show that their volumes are in the ratio
1:2:3.

Watch Video Solution

32. The larges sphere is carved out of a cube of

side
10.5 cm. Find the volume of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_GzqL5AxC0U2S
https://dl.doubtnut.com/l/_38chNCLJhbeg


33. If the radius of a sphere is doubled, what is

the
ratio of the volume of the first sphere to

that of the second sphere?

Watch Video Solution

34. A spherical ball of lead 3cm in diameter is

melted
and recast into three spherical balls. If

the diameters of two balls be 
 and 2cm,

find the diameter of the third ball.

Watch Video Solution

cm
3

2

https://dl.doubtnut.com/l/_y63xHZnoFxcG
https://dl.doubtnut.com/l/_TeEG4l6jkJO1


35. Find the surface area of a sphere of radius

7cm.

Watch Video Solution

36. Find the surface area and total surface

area of a
hemisphere of radius 21cm.

Watch Video Solution

https://dl.doubtnut.com/l/_TeEG4l6jkJO1
https://dl.doubtnut.com/l/_IHdffaBDcYF1
https://dl.doubtnut.com/l/_PP0KM6x5uSTH


37. The radius of a spherical balloon increases

from 7cm to 14cm as air is being pumped into

it. Find the ratio of surface areas of the

original balloon to the resulting new balloon.

Watch Video Solution

38. A sphere, a cylinder and a cone are of the

same
radius and same height. Find the ratio of

their curved surface.

Watch Video Solution

https://dl.doubtnut.com/l/_H5YNTNynUmPI
https://dl.doubtnut.com/l/_RUAubClHQHcm


39. Show that the surface area of a sphere is

the same
 as that of the lateral surface of a

right circular cylinder that just
 encloses the

sphere.

Watch Video Solution

40. A hemispherical bowl is made of steel, 0.25

cm thick.
 The inner radius of the bowl is
5 cm.

Find the outer curved surface area of the bowl.

Watch Video Solution

https://dl.doubtnut.com/l/_RUAubClHQHcm
https://dl.doubtnut.com/l/_KL5aZWdZQ6QU
https://dl.doubtnut.com/l/_QDZSCVnMwxCe


41. The internal and external diameters of a

hollow
 hemispherical vessel are 24cm and

25cm respectively. The cost to paint 
 the

surface is Rs. 0.05. Find the total cost to paint

the vessel all over. 

Watch Video Solution

1cm2

(useπ = )
22

7

42. The internal and external diameters of a

hollow
 hemispherical vessel are 24cm and

https://dl.doubtnut.com/l/_QDZSCVnMwxCe
https://dl.doubtnut.com/l/_RplGMOvzKFpD
https://dl.doubtnut.com/l/_ENkVULxT1uBI


25cm respectively. The cost to paint 
 the

surface is Rs. 0.05. Find the total cost to paint

the vessel all over. 

Watch Video Solution

1cm2

(useπ = )
22

7

43. A storage tank consists of a circular

cylinder
with a hemisphere adjoined on either

end. If the external diameter of the
cylinder be

1.4m and its length be 8m, find the cost of

painting it on the
outside at the rate of Rs. 10

per m2.

https://dl.doubtnut.com/l/_ENkVULxT1uBI
https://dl.doubtnut.com/l/_bPNwCcOZXQa1


Watch Video Solution

44. A wooden toy is in the form of a cone

surmounted
on a hemisphere. The diameter of

the base of the cone is 5cm and its height
 is

4cm. Find the cost of painting the toy at the

rate of Rs. 5 per 

Watch Video Solution

1000cm2.

45. The diameter of a sphere is decreased by

25%. By what
per cent does its curved surface

https://dl.doubtnut.com/l/_bPNwCcOZXQa1
https://dl.doubtnut.com/l/_akupQEXGzaxf
https://dl.doubtnut.com/l/_SkHLK1w8V1nh


area decrease?

Watch Video Solution

46. Find the
surface area of a sphere of radius:

10.5
cm         (ii)  5.6 cm          (iii)  14 cm

Watch Video Solution

47. Find the surface area of a sphere of

diameter:
(i) 14 cm (ii) 21 cm (iii) 3.5 m

Watch Video Solution

https://dl.doubtnut.com/l/_SkHLK1w8V1nh
https://dl.doubtnut.com/l/_QKm8osPWyQRM
https://dl.doubtnut.com/l/_P2Zyq4HoWvAI


48. Find the total surface area of a hemisphere

of radius 10 cm

Watch Video Solution

49. The surface
area of a sphere is 

find its diameter.

Watch Video Solution

5544 cm2,

https://dl.doubtnut.com/l/_P2Zyq4HoWvAI
https://dl.doubtnut.com/l/_nFXkAyys1m2V
https://dl.doubtnut.com/l/_jt0mfeeDWZ8c


50. A
 hemispherical bowl made of brass has

inner diameter 10.5cm. Find the cost of

tinplating it on the inside at the rate of Rs. 4

per 

Watch Video Solution

100 cm2

51. The dome of a building is in the form of a

hemisphere. Its radius is 63dm. Find the cost

of painting it at the rate of
Rs. 2 per sq.m.

Watch Video Solution

https://dl.doubtnut.com/l/_ttEv0WofgD6v
https://dl.doubtnut.com/l/_Qqob7JDEFr4D


52. Assuming the earth to be a sphere of

radius 6370
 km, how many square kilometres

is area of the land, if three-fourth of the
earths

surface is covered by water?

Watch Video Solution

53. A cylinder
 of same height and radius is

placed on the top of a hemisphere. Find the

curved
surface area of the shape if the length

of the shape by 7cm.

https://dl.doubtnut.com/l/_Qqob7JDEFr4D
https://dl.doubtnut.com/l/_AOoMdSa8eKfm
https://dl.doubtnut.com/l/_duDq7Clle8Mi


Watch Video Solution

54. A wooden
 toy is in the form of a cone

surmounted on a hemisphere. The diameter of

the
base of the cone is 16cm and its height is

15cm. Find the cost of painting
 the toy at

Watch Video Solution

Rs.7 per 100 cm2.

https://dl.doubtnut.com/l/_duDq7Clle8Mi
https://dl.doubtnut.com/l/_SWJTb9d5XWaE


55. A storage tank consists of a circular

cylinder
with a hemisphere adjoined on either

end. If the external diameter of the
cylinder be

1.4m and its length be 8m, find the cost of

painting it on the
outside at the rate of Rs. 10

per 

Watch Video Solution

m2.

56. The diameter of the moon is approximately

one fourth of
 the diameter of the earth. Find

https://dl.doubtnut.com/l/_CeLDTAZE3pq7
https://dl.doubtnut.com/l/_bbeoCdLdk1SR


the
ratio of their surface areas.

Watch Video Solution

57. Find the
volume of a sphere of radius 7cm.

Watch Video Solution

58. Find the
 volume of hemisphere of radius

3.5cm.

Watch Video Solution

https://dl.doubtnut.com/l/_bbeoCdLdk1SR
https://dl.doubtnut.com/l/_SoIQjVJaabQc
https://dl.doubtnut.com/l/_Gxm5VoPwQCOM


59. A hemispherical bowl is made of steel 0.5

cm
thick. The inside radius of the bowl is 4cm.

Watch Video Solution

60. A
 hemispherical bowl has inner diameter

11.2cm. Find the volume of milk it can
hold.

Watch Video Solution

https://dl.doubtnut.com/l/_xPtYBV9oyfsB
https://dl.doubtnut.com/l/_0zQPh58eKlCh


61. Find the volume of a sphere whose surface

area is 154 

Watch Video Solution

cm2

62. The volume of the two spheres
 are in the

ratio 64:27. Find the difference of their surface

areas, if
the sum of their radii is7.

Watch Video Solution

https://dl.doubtnut.com/l/_3C9BJGIzvDQV
https://dl.doubtnut.com/l/_tqgLCgajn1AN


63. Find the
volume and the total surface area

of a hemisphere of radius 3.5 cm.

Watch Video Solution

(Use π = )
22

7

64. A solid sphere of radius 3cm is melted and

then cast into small
 spherical balls each of

diameter 0.6cm. Find the number of balls thus

obtained.

Watch Video Solution

https://dl.doubtnut.com/l/_BQTFYAj24zYa
https://dl.doubtnut.com/l/_IHR8ZEmAxr6P


65. How many
 spherical bullets can be made

out of a solid cube of lead whose edge

measures
44 cm, each being 4 cm in diameter.

Watch Video Solution

66. How many spherical lead shots each 4.2 cm

in
 diameter can be obtained from a

rectangular solid of lead with dimensions

66cm, 42cm, 21cm. 

Watch Video Solution

(useπ = ).
22

7

https://dl.doubtnut.com/l/_IHR8ZEmAxr6P
https://dl.doubtnut.com/l/_az5ZcUfAh1ld
https://dl.doubtnut.com/l/_LoTe83upZ6UB


67. Three solid spheres of iron whose

diameters are
 2cm, 12cm and 16cm,

respectively, are melted into a single solid

sphere. Find
the radius of the solid sphere.

Watch Video Solution

68. A solid lead ball of radius 7cm was melted

and
then drawn into a wire of diameter 0.2cm.

Find the length of the wire.

https://dl.doubtnut.com/l/_LoTe83upZ6UB
https://dl.doubtnut.com/l/_AOlBRS8aE70K
https://dl.doubtnut.com/l/_jeAxcChQGuWW


Watch Video Solution

69. A solid
 sphere of radius 1cm is melted to

stretch into a wire of length 100 cm. Find
 the

radius of the wire.

Watch Video Solution

70. A sphere of diameter 6cm is dropped in a

right
circular cylindrical vessel partly filled with

water. The diameter of the
cylindrical vessel is

https://dl.doubtnut.com/l/_jeAxcChQGuWW
https://dl.doubtnut.com/l/_QI5DJwNtaw6C
https://dl.doubtnut.com/l/_wh4VW1WUE9TR


12cm. If the sphere is completely submerged in

water,
by how much will the level of water rise

in the cylindrical vessel?

Watch Video Solution

71. A hemisphereical bowl of internal diameter

36cm contains a liquid. This
 liquid is to be

filled in cylindrical bottles of radius 3cm and

height 6cm.
 How many bottles are required to

empty

Watch Video Solution

https://dl.doubtnut.com/l/_wh4VW1WUE9TR
https://dl.doubtnut.com/l/_kKRdEEZeC7zN


72. The largest
sphere is carved out of a cube

of a side 7cm. Find the volume of the sphere.

Watch Video Solution

73. A
hemisphere of lead of radius 8cm is cast

into a right circular cone of base
 radius 6cm.

Determine the height of the cone, correct to

two places of
decimal. 

Watch Video Solution

https://dl.doubtnut.com/l/_kKRdEEZeC7zN
https://dl.doubtnut.com/l/_irjyqVg1DXJd
https://dl.doubtnut.com/l/_Qcc52Z29eBsw


74. A spherical cannonball 28 cm in diameter is

melted and cast into a right circular cone

mould, whose base is 35 cm in diameter. Find

the height of the cone.

Watch Video Solution

75. A
 cylindrical container of radius 6 cm and

height 15 cm is filled with
ice-cream. The whole

ice-cream has to be distributed to 10 children

in equal
 cones with hemispherical tops. If the

https://dl.doubtnut.com/l/_EsbOMAeW40qU
https://dl.doubtnut.com/l/_imsC8l8oD2sU


height of the conical portion is four
times the

radius of its base, find the radius of the ice-

cream cone.

Watch Video Solution

76. A solid
 wooden toy is in the shape of a

right circular cone mounted on a hemisphere.

If the radius of the hemisphere is 4.2 cm and

the total height of the toy is
 10.2 cm, find the

volume of the wooden toy.

Watch Video Solution

https://dl.doubtnut.com/l/_imsC8l8oD2sU
https://dl.doubtnut.com/l/_0TH3GJ95yfby


77. Twenty seven solid iron spheres, each of

radius r and
surface area S are melted to
form

a sphere with surface area 
 Find the
 (i)

radius 
 of the new
 sphere, (ii) ratio of 

Watch Video Solution

 S' .

r'

S\ and\ S' .

78. Find the
 volume of a sphere whose radius

is:
2cm          (ii)  3.5cm    
(iii)  10.5 cm

Watch Video Solution

https://dl.doubtnut.com/l/_0TH3GJ95yfby
https://dl.doubtnut.com/l/_7ABfFq3i8TJJ
https://dl.doubtnut.com/l/_FM5vAX9tvM7J


79. Find the
 volume of a sphere whose

diameter is:
14cm        (ii) 
3.5 dm         (iii)  2.1 m

Watch Video Solution

80. A
 hemispherical tank has inner radius of

2.8m. Find its capacity in litres.

Watch Video Solution

https://dl.doubtnut.com/l/_FM5vAX9tvM7J
https://dl.doubtnut.com/l/_p8VfMQTUIu13
https://dl.doubtnut.com/l/_VgcKmgZ7eGu4


81. A hemispherical bowl is made of steel, 0.25

cm thick.
 The inner radius of the bowl is
5 cm.

Find the outer curved surface area of the bowl.

Watch Video Solution

82. How many
 bullets can be made out of a

cube of lead whose edge measures 22 cm,

each
 bullet being 2 cm in diameter?
 (a) 1347

(b) 2541 (c) 2662 (d) 5324

Watch Video Solution

https://dl.doubtnut.com/l/_lYdOpaZW8YR7
https://dl.doubtnut.com/l/_HwBjrM1IyeUX


83. A
 shopkeeper has one laddoo of radius

5cm. With the
 same material, how many

laddoos of radius 2.5cm can
be made.

Watch Video Solution

84. A spherical ball of lead 3cm in diameter is

melted
and recast into three spherical balls. If

the diameters of two balls be 
 and 2cm,

find the diameter of the third ball.

Watch Video Solution

cm
3

2

https://dl.doubtnut.com/l/_HwBjrM1IyeUX
https://dl.doubtnut.com/l/_tflyU6ztvDIR
https://dl.doubtnut.com/l/_Rr0h842hIRnR


85. A sphere of
 radius 5cm is immersed in

water filled in a cylinder, the level of water

rises 
Find the
radius of the cylinder.

Watch Video Solution

cm.
5

3

86. If the radius of a sphere is doubled, what is

the
ratio of the volume of the first sphere to

that of the second sphere?

Watch Video Solution

https://dl.doubtnut.com/l/_Rr0h842hIRnR
https://dl.doubtnut.com/l/_Jn0VCvcuQneY
https://dl.doubtnut.com/l/_35N5CwonsNWR


87. A cone and a hemisphere have equal bases

and equal volumes. The ratio of their heights

is

Watch Video Solution

88. A vessel in the form of a hemisphereical

bowl is full of water. The contents are emptied

into a cylinder. The internal
 radii of the bowl

and cylinder are respectively 6cm and 4cm.

Find the height
of water in the cylinder.

https://dl.doubtnut.com/l/_35N5CwonsNWR
https://dl.doubtnut.com/l/_n7aHXSG4BF26
https://dl.doubtnut.com/l/_7GpyxxSYKkAF


Watch Video Solution

89. A cylinder whose height is two thirds of its

diameter, has
the same volume as a sphere of

radius 4cm. Calculate the radius of the base of

the cylinder.

Watch Video Solution

90. A vessel in the form of a hemisphereical

bowl is full of water. The contents are emptied

https://dl.doubtnut.com/l/_7GpyxxSYKkAF
https://dl.doubtnut.com/l/_rPB2ggHRvDof
https://dl.doubtnut.com/l/_wyveaiw4Z5pZ


into a cylinder. The internal
 radii of the bowl

and cylinder are respectively 6cm and 4cm.

Find the height
of water in the cylinder.

Watch Video Solution

91. A
 cylindrical tub of radius 16cm contains

water to a depth of 30cm. A spherical
iron ball

is dropped into the tub and thus level of water

is raised by 9cm.
 What is the radius of the

ball?

Watch Video Solution

https://dl.doubtnut.com/l/_wyveaiw4Z5pZ
https://dl.doubtnut.com/l/_6CsblobBz8V6


92. A cylinder of radius 12cm contains water to

a
 depth of 20cm. A spherical iron ball is

dropped into the cylinder and thus
the level of

water is raised by 6.75 cm. Find the radius of

the ball. 

Watch Video Solution

(useπ = )
22

7

93. The
diameter of a copper sphere is 18 cm.

The sphere is melted and is drawn into
a long

https://dl.doubtnut.com/l/_6CsblobBz8V6
https://dl.doubtnut.com/l/_gIIQROxp1k8p
https://dl.doubtnut.com/l/_cuhuk1CsfwXc


wire of uniform circular cross-section. If the

length of the wire is
108 m, find its diameter.

Watch Video Solution

94. A
cylindrical jar of radius 6 cm contains oil.

Iron spheres each of radius 1.5
 cm are

immersed in the oil. How many spheres are

necessary to raise the level
 of the oil by two

centimetres?

Watch Video Solution

https://dl.doubtnut.com/l/_cuhuk1CsfwXc
https://dl.doubtnut.com/l/_AAd7D4n6nr1B
https://dl.doubtnut.com/l/_L8yG9Naog6yT


95. A measuring jar of internal diameter 10cm

is
 partially filled with water. Four equal

spherical balls of diameter 2cm each
 are

dropped in it and they sink down in water

completely. What will be the
 change in the

level of water in the jar?

Watch Video Solution

96. The
 diameter of a sphere is 6cm. It is

melted and drawn into a wire of diameter
 0.2

cm. Find the length of the wire.

https://dl.doubtnut.com/l/_L8yG9Naog6yT
https://dl.doubtnut.com/l/_mg4KSNPCFE4r


Watch Video Solution

97. The radius of the internal and external

surface of a hollow spherical
shell are 3cm and

5cm respectively. If it is melted and recast into

a
 solid cylinder of height 
 Find the

diameter of the cylinder.

Watch Video Solution

2 cm.
2

3

https://dl.doubtnut.com/l/_mg4KSNPCFE4r
https://dl.doubtnut.com/l/_PDV37gVG1ZQ2


98. A hemisphere of lead of radius 7 cm is cast

into a
right circular cone of height 49cm. Find

the radius of the base.

Watch Video Solution

99. A hollow
 sphere of internal and external

radii 2 cm and 4 cm respectively is melted
into

a cone of base radius 4 cm. Find the height

and slant height of the
cone.

Watch Video Solution

https://dl.doubtnut.com/l/_x5GZTXxDUXKe
https://dl.doubtnut.com/l/_7k5CnLDdFP9E


100. A metallic
 sphere of radius 10.5 cm is

melted and recast into small right circular

cones, each of base radius 3.5 cm and height 3

cm. The number of cones so formed
 is
 (a) 105

(b) 113 (c) 126 (d) 135

Watch Video Solution

101. A cone and
a hemisphere have equal bases

and equal volumes. Find the ratio of th

Watch Video Solution

https://dl.doubtnut.com/l/_7k5CnLDdFP9E
https://dl.doubtnut.com/l/_HvT68pvB7CHq
https://dl.doubtnut.com/l/_wA8MwNKo1Ps5


102. A cone, a hemisphere and a cylinder stand

on equal
 bases and have the same height.

Show that their volumes are in the ratio
1:2:3.

Watch Video Solution

103. A
cylindrical tub of radius 12 cm contains

water to a depth of 20 cm. A
 spherical ball is

dropped into the tub and the level of the

https://dl.doubtnut.com/l/_wA8MwNKo1Ps5
https://dl.doubtnut.com/l/_g4lA0NEnAEgv
https://dl.doubtnut.com/l/_d4c6XB3lSRow


water is raised
 by 6.75 cm. Find the radius of

the ball.

Watch Video Solution

104. The larges sphere is carved out of a cube

of side
10.5 cm. Find the volume of the sphere.

Watch Video Solution

105. A sphere, a cylinder and a cone have the

same radius and same height. Find the ratio of

https://dl.doubtnut.com/l/_d4c6XB3lSRow
https://dl.doubtnut.com/l/_jXtIDvOgR3AD
https://dl.doubtnut.com/l/_9pzN96iZ2MGt


their volumes.

Watch Video Solution

106. The diameter of a sphere is decreased by

25%. By
 what percent its curved surface area

decrease?

Watch Video Solution

107. A hemispherical tank is made up of an iron

sheet 1 cm
thick. If the inner radius is 1 m,
then

https://dl.doubtnut.com/l/_9pzN96iZ2MGt
https://dl.doubtnut.com/l/_0FMEr2hY2ykd
https://dl.doubtnut.com/l/_HI1V2iAh7949


find the volume of the iron used to make the

tank

Watch Video Solution

108. A capsule of medicine is in the shape of a

sphere of diameter 3.5 mm. How much

Medicine ) is needed to fill this

capsule?

Watch Video Solution

( ∈  mm3

https://dl.doubtnut.com/l/_HI1V2iAh7949
https://dl.doubtnut.com/l/_0xSZsUrLKV9V


109. The diameter of the moon is

approximately one-fourth of
 the diameter of

the earth.
 What fraction of the volume of the

earth is the volume
of the moon?

Watch Video Solution

110. Find the
surface area of a sphere of radius

14cm.

Watch Video Solution

https://dl.doubtnut.com/l/_2sziJHaYBgh6
https://dl.doubtnut.com/l/_hT52t8oXB7pL
https://dl.doubtnut.com/l/_3ZdHB2MI6DKY


111. Find the total surface area of a hemisphere

of radius 10 cm

Watch Video Solution

112. Find the radius of a sphere whose surface

area is 

Watch Video Solution

154 cm2

https://dl.doubtnut.com/l/_3ZdHB2MI6DKY
https://dl.doubtnut.com/l/_uLD6qcH3jDPY


113. The
 hollow sphere, in which the circus

motorcyclist performs his stunts,
 has a

diameter of 7 m. Find the area available to the

motorcyclist for riding.

Watch Video Solution

114. Find the volume of a sphere whose surface

area is 154 

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_hSh0TNRYG0dJ
https://dl.doubtnut.com/l/_0mHgJsDoZx4g
https://dl.doubtnut.com/l/_xaxbgl2Xyk1q


115. How many spherical bullets can be made

out of a solid cube of lead whose edge

measures 44 cm, each bullet being 4 cm in

diameter? 

Let the total number of bullets be 

Watch Video Solution

x

116. If a sphere
 of radius 
 has the
 same

volume as that of a cone with circular base of

radius 
then find the height of the cone.

Watch Video Solution

2r

r,

https://dl.doubtnut.com/l/_xaxbgl2Xyk1q
https://dl.doubtnut.com/l/_tIyPbj0QHozI


117. A metallic spherical shell of internal and

external diameters 4 cm and 8 cm respectively

is melted and recast into the form a cone of

base diameter 8 cm The height of the cone is

Watch Video Solution

118. The surface area of a sphere of radius 5 cm

is five times the curved surface area of a cone

https://dl.doubtnut.com/l/_tIyPbj0QHozI
https://dl.doubtnut.com/l/_cJg4JBMEN5ek
https://dl.doubtnut.com/l/_q2lP5BnAWXos


of radius 4 cm. Find the height and volume

(correct to two decimal places) of the cone.

Watch Video Solution

119. In a sphere
 is inscribed in a cube, find the

ratio of the volume of cube to the volume of

the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_q2lP5BnAWXos
https://dl.doubtnut.com/l/_yzdbdCJv8kzZ


120. In a sphere
the number of faces is
1               

(b) 
2      (c)  3         
(d)  4

Watch Video Solution

121. The total
 surface area of a hemisphere of

radius 
is
 
(b) 
(c) 
(d)


Watch Video Solution

r πr2 2πr2 3πr2 4πr2

https://dl.doubtnut.com/l/_fQi64t1npExX
https://dl.doubtnut.com/l/_RHxXTNaQfQso


122. The ratio
 of the total surface area of a

sphere and a hemisphere of same radius is

2:1      (b) 
3:2          (c)  4:1       
(d)  4:3

Watch Video Solution

123. A sphere
 and a cube are of the same

height. The ratio of their volumes is
3:4           

(b)   21:11         (c) 
4:3         (d)  11:21

Watch Video Solution

https://dl.doubtnut.com/l/_Bk0QyR0o4drS
https://dl.doubtnut.com/l/_RDdSqAopSXWF
https://dl.doubtnut.com/l/_QxAbOnOQB63P


124. The largest
 sphere is cut off from a cube

of side 6cm. The volume of the sphere will be

27 
 (b)
 
 (c)
 
 (d)

Watch Video Solution

π cm3 36π cm3 108π cm3

12π cm3

125. A cylindrical rod whose height is 8 times

of its radius is melted and recast into

spherical balls of same radius. The number of

the balls will be

Watch Video Solution

https://dl.doubtnut.com/l/_QxAbOnOQB63P
https://dl.doubtnut.com/l/_z7yQTAKkSuJq


126. If the
 ratio of volumes of two spheres is

1:8, then the ratio of their surface   area is

1:2        (b) 
1:4     (c)  1:8       
(d)  1:16

Watch Video Solution

127. If the
surface area of a sphere is 

then its
volume 
 is
 
 (b) 
 (c)


(d)


Watch Video Solution

144π m2,

( ∈  m3) 288π 316 π

300 π 188 π

https://dl.doubtnut.com/l/_z7yQTAKkSuJq
https://dl.doubtnut.com/l/_ja2D0abH4INu
https://dl.doubtnut.com/l/_TyO58unnieR3


128. The ratio
between the volume of a sphere

and volume of a circumscribing right circular

cylinder is
2:1         (b) 
1:1      (c)  2:3           (d)  1

Watch Video Solution

129. The ratio of
the volume of a cube so that

of a sphere which will fit inside the cube is


(b) 
(c) 
(d) 

Watch Video Solution

4  : π 4  : 3π 6  : π 2  : π

https://dl.doubtnut.com/l/_TyO58unnieR3
https://dl.doubtnut.com/l/_hHT3TErNhfYH
https://dl.doubtnut.com/l/_lFNUjmX7eifl


130. A sphere is
 placed inside a right circular

cylinder so as to touch the top, base and

lateral surface of the cylinder. If the radius of

the sphere is 
 then the
 volume of the

cylinder is
 
(b) 
(c)
 
(d) 

Watch Video Solution

r,

4π r3 π r38

3
2π r3 8π r3

131. A cone and
a hemisphere have equal bases

and equal volumes the ratio of their heights is

1:2 (b)
2:1 (c) 4:1
(d) √2 :  1

https://dl.doubtnut.com/l/_Ed4SJ0mH7Dfs
https://dl.doubtnut.com/l/_KCdtZ3daL5kw


Watch Video Solution

132. A cone, a hemisphere and a cylinder stand

on equal
 bases and have the same height.

Show that their volumes are in the ratio
1:2:3.

Watch Video Solution

https://dl.doubtnut.com/l/_KCdtZ3daL5kw
https://dl.doubtnut.com/l/_XslVzp5mSZzx

